
Penn St.-Schuylkill (0-14) -vs- Saint Elizabeth (4-14,1-3 United East)
3/22/2025 at Lancaster, PA (Horst Athletic Center)

 
 

 
Penn St.-Schuylkill (0-14)

 
 
Saint Elizabeth (4-14,1-3 United East)

 
 

Site: Lancaster, PA (Horst Athletic Center)
Date: 3/22/2025   Attendance: 63   Time: 1:01 pm   
Officials:

Set Scores 1 2 3
Penn St.-Schuylkill (0) 7 10 11
Saint Elizabeth (3) 25 25 25

Attack Set Serve Block Defense Rec
# Player SP K E TA PCT A E SA SE BS BA BE DIG BHE RE PTS
22 Fisher, Zach 3 0 1 2 -.500 0 0 0 2 0 1 0 0 0 0 0.5
19 Imeogu, David 3 0 0 0 0 0 0 0 0 0 0 0 5 0 3 0.0
12 Simak, Devon 3 0 0 3 .000 0 0 0 2 0 0 0 0 0 1 0.0
11 Hensley, Bryce 3 1 2 6 -.167 0 0 0 1 1 0 0 0 0 1 2.0
10 Rosario-Gonzales, Aramis 3 0 0 0 0 0 0 0 0 0 0 0 2 0 1 0.0
5 Plesnarski, Reno 3 3 5 12 -.167 7 3 0 3 0 0 0 2 0 0 3.0
3 Ruggie, Liam 3 0 1 2 -.500 1 0 0 0 0 0 0 2 0 1 0.0
1 Owens, Ashton 3 3 4 11 -.091 0 1 0 1 0 1 0 2 0 4 3.5
8 Miller, Jeremiah 3 3 10 20 -.350 1 0 0 1 0 0 0 4 0 3 3.0
TM TEAM 3 0 0 0 0 0 0 0 0 0 0 0 0 0 2 0.0

Totals 30 10 23 56 -.232 9 4 0 10 1 2 0 17 0 16 12.0

Set K E TA %
1 1 10 18 -0.5
2 3 6 16 -0.188
3 6 7 22 -0.045

10 23 56 -.232

Attack Set Serve Block Defense Rec
# Player SP K E TA PCT A E SA SE BS BA BE DIG BHE RE PTS
7 Peters, Kodi 3 5 0 8 .625 0 0 2 3 0 1 0 3 0 0 7.5
3 Lugo, Sam 3 3 1 7 .286 1 0 2 3 0 2 0 2 0 0 6.0
2 Rondon, Diego 3 0 0 2 .000 11 1 2 0 0 0 0 1 0 0 2.0
1 Chablay, Jerry 3 0 0 0 0 0 1 0 0 0 0 0 4 0 0 0.0
5 Ibezim, Kennedy 3 6 3 11 .273 0 0 6 2 0 1 0 0 0 0 12.5
10 Mundaray, Jonathan 3 4 1 10 .300 0 0 2 0 0 0 0 4 0 0 6.0
9 Saldana, Carlos 3 2 1 9 .111 0 0 0 0 0 1 0 4 0 0 2.5
11 Noroña, Alan 3 0 0 0 0 6 1 1 0 0 0 0 2 0 0 1.0
TM TEAM 3 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0.0
8 Joachim, Enock 2 1 0 1 1.000 1 0 0 0 0 1 0 1 0 0 1.5
16 Kelly, Kyzier 1 0 0 1 .000 0 0 0 0 0 0 0 0 0 0 0.0
12 Romero, Randel 1 1 1 5 .000 0 0 1 0 0 0 0 0 0 0 2.0

Totals 31 22 7 54 .278 19 3 16 8 0 6 0 21 0 0 41.0

Set K E TA %
1 7 2 13 0.385
2 6 3 17 0.176
3 9 2 24 0.292

22 7 54 .278

1 2 3 Total
Tie scores 0 0 2 2
Lead changes 0 0 2 2


